Mediday de tiempo-
(swmas y restos)

a2h 34 min 50s +3h 32min 30s > 6h 7min 20s

2h 34 min 50s
+ 3h 32mn 30s

5h 66min 80s

t1 t1 " 60
6h 67min 20s
60 min
07 min

a9h 45min 35s —=6h 17min 40s — 3h 27 min 55s

44 min  95s
oh 45min 35s

- 6h 17min 40s

3h 27min b55s

a6h 32min 40s +3h 42min 50s — 10h 15min 30s

6h 32min 40s
+ 3h 42min 50s

9h 74min 90s

t1 t1 " 60
10h 75min 30s
= 60 min
15 min

a7h 15min 45s - 4h 35min 40s > 2h 40min 5s
6h 75 min

7h  1Bmin 45s

" 4h 35min 40s

2h 40min O05s
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a5h 25min 30s +

2h 17min 50s — 7h 43 min 20s

5h 25min 30s
+ 2h 17min 50s
7h 42min 80s
t 60
43 min 20s

4a8h 10min 10s -

5h 45min 50s —> 2h 24 min 20s

69 min
7h /Q/min 70 s
sh 10min 1ds
~ 5h 45min 50s
2h 24min 20s

a6h 50min 46s +2h 23min 59s —» 9h 14 min 45s

6h 50min 46s
+ 2h 23min 59s
8h 73 min 105s
t1 t - 60
Oh 74min 45s
= 60 min
14 min

434 h 21 min 57s -

27h 19min 37s - 7h 2min 20s

3dh 21min 57s
- 27h 19min  37s
07h 02min 20s
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a3h 15min 35s +1h 50min 40s —» 5h 6min 15s

3h 15min 35s
+ 1h 50min 40s
4h 65min 75s
t1 t1 " 60
5h ©66min 15s
- 60 min
06 min

a5h 41min 55s = 2h 17min 25s — 3h 24 min 30s

40s +2h 55min 17s —»> 7h 17 min 57 s

12s - 4h 50min 40s —» 1h 19min 32s

5h 41min 55s
- 2h 17min 25s
3h 24min 30s
a4h 22 min
4h 22min 40s
+ 2h 55min 17s
6h 77min 57s
t1 760
7h 17 min
a6h 10 min
69 min
5h /é/min 72 s
ﬁ/ﬁ ;Ifffmin ;I/Zs
- 4h 50min 40s
1h 19min 32s
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